0.4

Progression-free survival (%)
0.2

0.0

Signature: COX6BP3 I Signature: MPPED1 ]
100 p value = 8e-4 p value = 1e-3
0.75
Provar (p value 0.11)
0.50
<
;\‘?o.zs
= —~ @
2 signature * ©
E 0.00 relative level ~
7 Signature: PARVB I Signature: PARVG ] =+ down T o
=1.00 . -
© p value = 4e-4 p value = 3e-4 v c
[ 3
2 ]
Oors E ;
+ #H + [
0.50 ° N
o
025 o
o
0.00 4
0 5 10 15 0 5 10 15
time (years) time (years)
Provar + consensus signature (p value 1.3e-5)
e
o -
-
p value = 3e-4 @ —H+—H— t +—
© g
o = @
2 °]
<
© 3 I
o =
o
g o T -
3 84 —H— +—+
<@
} L (=]
v T T T T T T
0 1 2 3 4 5
time (years)

2 4 6 8 10 12 14

time (years)




	Slide Number 1

